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1. fafified ors o1 er3eye &1 g2
import numpy as np
a = np.array([[1,2,3],[0,1,4],[11,22,33]])
print (a.size)
(A) 1 B) 3 G 9 (D) 4
What will be output for the following code ?
import numpy as np
a = np.array([[1,2,3],[0,1,4],[11,22,33]])
print (a.size)
(A) 1 B) 3 G 9 (D) 4

2. ffaRed syHl & 918 3m3eye &1 grm 2
a=0
b=3
while a + b < 8:
a+=1
print(a, end=")
(A) 01234 (B) 123456 (C) 12345 (D) STHIA DS QI
What will be the output after the following statements?
a=0
b=3
while a + b < 8:
a+=1
print(a, end=")
(A) 01234 (B) 123456 (C) 12345 (D) None of these

3. U® aRusd o iy T Ser el HeT a1 &
(A) afuEd (B) fereRa (C) SMESBRR (D) HHC
Raw data assigned to a variable is called as .
(A) variable (B) literal (C) identifier (D)  comment

4.  Numpy array H SUONT f5T S a1 zeros() TaRI BT 350 &1 872
(A) Tt 0 SIS TeltHe & 1y Afee 991 & forg
(B) W A 0P Y Afce s & forw
() i Tefide 0 & Iy Afeey 991 & fag
(D) SR H I PIS o1
What is the purpose of zeros() function used in Numpy array ?
(A) To make a Matrix with all diagonal element 0
(B) To make a Matrix with first row 0
(C) To make a Matrix with all element 0
(D) None of the above
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5.  NumPY &1 T 31 g2

(A)
(©)

TR Uray= (B) &R I Urgy_
ARG qrgY (D) ek BR U@y

NumPY stands for?

(A)
(©)

Numbering Python (

6. fofcfad ois 71 filc Hwm?
if2+5==8:
print("TRUE")

else:

print("FALSE")
print("TRUE")

(A)
(©)

TRUE (B) TRUE FALSE
TRUE TRUE (D) FALSE TRUE

What does the following code print ?
if2+5==8:
print("TRUE")

else:

print("FALSE")
print("TRUE")

(A) TRUE (B) TRUE FALSE

(C) TRUE TRUE (D) FALSE TRUE
7. lstrip() HYS BT SUAA ¥ fougare |

(A) Tt 2fei Haed ol fEcfle w1

B) Tt faf Faed &1 fediie A

() Tt faf&w iR et ey & feciic HA

(D) 3RPY Hiaed fSaiic B & fow

Istrip() method is used for :

(A) delete all the trailing characters

(B) delete all the leading characters

(C) delete all the leading and trailing characters

(D) delete upper case characters

B) Number in Python
Numerical Python (D)  Number for Python
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8. fAmfafad &1 3m3eye e g 2

print((range(4)))

(A) 0,1,2,3 (B) [0,1,2,3] (C) range(0,4) (D) (0,1,2,3)
What will be the output of the following?

print((range(4)))

(A) 0,1,2,3 (B) [0,1,2,3] (C) range(0,4) (D) (0,1,2,3)

0. TFufafad® T oH It aRuad fsaaRem Tad § 2
(A) a =3 (B) _a=3 (C) a?=3 (D) ot

Which of the following variable declaration is incorrect ?
(A) a_=3 (B) _a=3 (C) a?=3 (D) All of these

10. TN ¢ |, HSITHE Bl o A & o g 7 3 frgesr wa fear srar g 2

() e (B) W (C) $TYe/3M3TYe (D) SHHISH
In a flow chart, which of the following is used to test the condition ?
(A) Terminal (B) Process (C) Input/Output (D) Decision

11.  fAafafad sie &1 em3cye o1 ghT 2
f=open("demo.txt","r")
print(f.tell())
(A) (B) 2 (C) -1 (D) 0
What will be the output of the following code ?
f=open("demo.txt","r")
print(f.tell())
(A) 1 (B) 2 Cc) - (D) 0

12. PO A I oH wEd H IR /3l FIRHE ?

(A) WUSS YT (B) TSS 3M3TYC

(C) Wiss W (D) Ifcarad guft
Which of the following is the basic I/O connections in file ?

(A) Standard Input (B) Standard Output
(C) Standard Errors (D) All of the mentioned
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13, B I e & &l e drarg 2

(A) readline() (B) read()

(C) SWRIad Gl (D) SR H Y BIS el

Which function returns the strings ?

(A) readline() (B) read ()

(C) Both of the above (D) None of the above
14. PRI ®rs @1 3r3eqe . g ?

f=open("demo.txt","w+")

f.write("Welcome to Python")

f.seek(5)

a=f.read(5)

print(a)

(A)  Welco (B) meto

(C) Welcome to Python (D) eto

What will be the output of the following code ?

f=open("demo.txt","w+")

f.write("Welcome to Python")

f.seek(5)

a=f.read(5)

print(a)

(A) Welco (B) meto

(C) Welcome to Python (D) eto

15.  seek() is: file_object.seek(offset [, reference_point]) &1 Ry %‘
IBYY_Uige 1 <idr 82

(A) Reference_point B 3iisoiae Bt aad fUfd &) ER1T HaT 8
(B) reference_point TT3d 3fissiae Bt URIYS fRUfd &) $R1d Far |
(C) reference_point Igd &ﬁ@%ﬁw@r@rﬁrﬁgﬁam%
(D) SWigd d I PIs g1
The syntax of seek() is: file_object.seek(offset [, reference_point])
What does the reference_point indicate?
(A) reference_point indicates the current position of the file object
(B) reference_point indicates the starting position of the file object
(C) reference_point indicates the ending position of the file object
(D)  None of the above
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16.

17.

18.

19.

20.

STH T BT 1 HR3d H Ufesye el § 2

(A) Iite T (B) WIS (C) TS (D) f&H
Which one is not the attribute of a file?

(A) softspace (B) mode (C) closed (D) rename
@R S U e AR Stufpardl . FEl gl

(A) TRBHT (B) TENReH® RusiezH

(C) 3deguRH (D) AT

The process of drawing a flowchart for an algorithm is called

(A) Performance (B) Algorithmic Representation

(C) Evaluation (D) Flowcharting

DI A1 oM &l SRIHE AT & 2

(A)  dump() (B) laod()

(C) SWIad gl (D) IWIad H I PIs T8l

Which of the function takes two arguments ?

(A)  dump() (B) laod()

(C) Both of the above (D)  None of the above

A AT & arr T G & Ui TAHCH § | 370 gt 9 gERT Teide & IuANT
T T R Thd @

(A) arr[-2] (B) arr[2] (C) arr[-1] (D) arr[1]
Suppose a list with name arr, contains 5 elements. You can get the 2nd element from the list
using :

(A) arr[-2] (B) arr[2] (C) arr[-1] (D) arr[1]
fraforied TR &1 33eye &1 R 2

a=2

b=8

print(a | b)

print(a >> 1)

(A) 100 (B) 10 2 C) 2 2 (D) 101
What will be the output of the following expression ?

a=2

b=8

print(a | b)

print(a >> 1)

(A) 100 (B) 10 2 (C) 2 2 (D) 101
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21.

22.

23.

fafefad &1 sm3eye o g 2

import numpy as np

a = np.array([[1,2,3,4], [5,6,7,8], [9,10,11,12]])

print(a[2,2])

(A 7 (B) 11 (C) 10 (D) 8
What will be the output of the following ?

import numpy as np

a = np.array([[1,2,3,4], [5,6,7,8], [9,10,11,12]])

print(a[2,2])

(A 7 (B) 11 (C) 10 (D) 8

frafeied Hie &1 3m3eye T grm 2
def add(a, b):
return a+5, b+5
result = add(3, 2)
print(result)
(A) 15 (B) 8 (C) (8,7) (D) Error
What is the output of the following code ?
def add(a, b):
return a+5, b+5
result = add(3, 2)
print(result)
(A) 15 (B) 8 (C) (8,7) (D) Error

fafafed & ¥ S I 4T dugex gRT wwel S g 2

(A) TRAF dTas (B) SR civIaet

(C) B-dad (D) IR H Y BIS el
Which of the following language is understood by computer ?

(A) Machine language (B) Assembly language
(C) High-level language (D)  None of the above
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24.

25.

26.

27.

28.

TS TS SfCHRR & AfYGaH G <dls FT] 2

(A) 16 (B) 32

(C) 64 (D) IRIadH Y DIS ol
What is the maximum possible length of an identifier ?

(A) 16 (B) 32

(C) 64 (D) None of these above

f STET-3THT UHR & THNGH HRICHI T g2

(A)  FTe/em3eye, fedfiom, Rdie (B)  $74e, 9eye, Tw

(C) U, $7Yc / 3T3cYe, Uy (D) ey, JoarH, Rdie

What are the three different types of algorithm constructions ?

(A)  Input/Output, Decision, Repeat  (B) Input, Output, Process

(C) Loop, Input/Output, Process (D) Sequence, Selection, Repeat

T AT g=[3, 4, 5, 20, 5, 25, 1, 3], @ q.pop(1) P TG q ferke & 3MIcH T B ?

(A) [3,4,5,20,5, 25,1, 3] (B) [1,83,3,4,5,5, 20, 25]
(C) [8,5,20,5,25,1,3] (D) [1,3,4,5, 20,5, 25]
Assume g=[3, 4, 5, 20, 5, 25, 1, 3], then what will be the items of q list after g.pop(1) ?
(A) [3,4,5,20,5,25,1, 3] (B) [1,3,3,4,5,5, 20, 25]
(C) [8,5,20,5,25,1,3] (D) [1,3,4,5, 20,5, 25]
fafafed & @ frg ST ueR | gt sigen of safd T8t 8 2

(A fe B) SR

(C) dc (D) SRIEdH I BIS o
In which of the following data type, duplicate items are not allowed ?
(A) list (B) dictionary

(C) set (D) None of the above
fafaRad ore @1 3m3eye 1 gi?

import numpy as np

a = np.array([1,2,3,5,8])

b = np.array([0,1,5,4,2])

c=a+b

c=c*a

print (c[2])

(A) 6 (B) 24 (C) © (D) IR T
What is the output of the following code?

import numpy as np

a = np.array([1,2,3,5,8])

b = np.array([0,1,5,4,2])

c=a+b

c=c’a

print (c[2])

(A) 6 (B) 24 G o (D) None of these
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29.

30.

31.

32.

fgfeiad wie &1 3m3eye T grm 2
import numpy as np

a = np.array([[1,2,3]])

print(a.shape)
A (23 B (3,1 (C) (1,3) (D) TTHIPR T
What is the output of the following code ?
import numpy as np
a = np.array([[1,2,3]])
print(a.shape)
(A)  (2,3) B) (3,1) ) @1,3) (D) None of these
Dre § Ffedl ol gel Bt ufohar &l EHISIGIE
(A)  huTSfeiT (B) X (C) R (D) f&afifT
The process of finding errors in code is called as .
(A) Compiling (B) Running (C) Testing (D) Debugging
frafofed oie &1 3MScge :1 5 2
ms = ('A",'D', 'H', 'U’, 'N', 'I', 'C")
print(ms[1:4])
(A) ('D','H','U") (B) (A,'D,'H,'U,'N,"l,'C)
(C) (D, 'H,'U,'N,T,'CY) (D) STH YIS Tl
What is the output of the following code ?
ms = ('A", 'D', 'H', 'U', 'N', 'I', 'C")
print(ms[1:4])
(A) ('D,'H','U) (B) (‘A,'D,'H','U,'N,'l','C)
(C) (D, 'H,'U,'N,'T,'C) (D) None of these
>>>'2'+'3' BT 3TICYC FT §
(A) 23 (B) ‘2+3 (C) 23 (D) SAH I PIS Tl
What is the output of >>>'2'+'3’
(A) 23 (B) 2+3 (C) 23 (D) None of these
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33.

34.

35.

36.

fafafad uray= g &1 3eeye 31 ghm 2

def addltem(listParam):
listParam += [1]
mylist = [1, 2, 3, 4]
addltem(mylist)
print(len(mylist))
(A) 5 (B) 8 (C) 2
What will be the output of the following Python program ?
def addltem(listParam):
listParam +=[1]
mylist = [1, 2, 3, 4]
addltem(mylist)
print(len(mylist))
(A 5 (B) 8 (C) 2

TS fawqgd FArTe & & ®0 H S S &

(A) HIZD! (B) g (C) Tepl

A detailed flowchart is known as :

(A)  Micro (B) Union (C) Macro
TEIRYE @ GRIVGRId 8! o o g g

A FEIPIS (B) Rieww (©)
Algorithms cannot be represented by .

(A) pseudocodes (B) syntax (C) flowcharts

FGfeRId Urae @i &1 $3cyce 1 gRI?

from math import *

floor(3.7)

(A) 3 (B) 4 (C) 8.0
What will be the output of the following Python code?
from math import *

floor(3.7)

(A) 3 (B) 4 (C) 8.0

(D)

Stack

URITH

programs

319 A IS el

None of these
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37.

38.

39.

40.

TH U U HHTS T34 9 frae srffic WaHR &R Iodi gl

E2H

any

Invalid Syntax

A T B o (C) dH (D)
How many arguments a Python program can accept from the command line ?
(A) one (B) Two (C) Three (D)
faforRad @1 emeeye w82

print(int())

(A) D3 Jefasd T (B) 1

(C) 0 (D) Error

What is the output of the following ?

print(int())

(A)  Any random number B) 1

(G O (D) Error

frafofed oie &1 3MScge :1 5 2

a = set('dcma’)

b = set('mlpc’)

print(a’b)

(A) {d,'c,'m,'a,'m,'l p,'c} B) {m%', 'p,'c}

(C) {d,'c,'m, a) (D) IS Tl

What is the output of the following code ?

a = set('dcma’)

b = set('mlpc’)

print(a’b)

(A) {d,'¢,'m,'a,'m,'l p, 'c} (B) {'m'"', 'p','c}

(C) {d,'c,'m','a} (D) None

fafafad Hua &1 ey a g 2

print ((2, 4) + (1, 5))

(A) (2,4),4,5 (B) (3,9 C) (2415 (D)
What is the output of the following statement ?

print ((2, 4) + (1, 5))

(A) (2,4),4,5 (B) (3,9 € (2415 (D)

Invalid Syntax
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41. UIYE H U TR & o feaerar fanar it g2
(A) def function function_name():
(B) declare function function_name():
(C) def function_name():
(D) declare function_name():
How is a function declared in Python ?
(A) def function function_name():

(B) declare function function_name():
(C) def function_name():
(D) declare function_name():

42. Tygfafed &1 sm3eye @1 ghm 2

import sys
sys.stdout.write('Welcome\n')
sys.stdout.write('Al\n’)
(A)  Welcome

All
(B) Welcome All
(C) Compilation Error
(D)  Runtime Error
What will be the output of the following ?
import sys
sys.stdout.write('Welcome\n')
sys.stdout.write('Al\n’)
(A)  Welcome

All
(B) Welcome All
(C) Compilation Error
(D) Runtime Error

43. R W & o g A o 9 g8 ms A8 g2

(A) ab (B) rw (C) a+ (D) r+
Which of the following is not a correct mode to open a file?
(A) ab (B) rw C) a+ (D) r+
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44,

45.

46.

TS Dl A7 B & oI IuaiT fhar o arer Ricaq |

(A) os.rename(existing_name, new_name)
(B) fp.name = ‘new_name.txt’

(C) os.rename(fp, new_name)

(D) os.set_name(existing_name, new_name)
The syntax used to rename a file :

(A) os.rename(existing_name, new_name)

(B) fp.name = ‘new_name.txt’
(C) os.rename(fp, new_name)
(D) os.set_name(existing_name, new_name)

afe g9 foreft wrget @l g Ais H Wiard € IR BIgd HiNG el 8, o) B 91 TR Ske gNT?

(A)  File Found Error (B) File Not Exist Error

(C) File Not Found Error (D) 9 9 DI 8l

If we open a file in write mode and file does not exists, which of the error will generate ?
(A) File Found Error (B) File Not Exist Error

(C) File Not Found Error (D) None of these

frafaRad ore ¥ fhat g fiie givt 2

def fun(a,b):

for x in range(a,b+1):

if X%3==0:

print(x, end="")
fun(100,120)

(A 7 (B) 8 (C) 6 (D) 9
How many numbers will be printed by the following code ?
def fun(a,b):
for x in range(a,b+1):
if X%3==0:

print(x, end="")
fun(100,120)
(A 7 (B) 8 (C) 6 (D) 9
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47.

48.

49,

faffad oie o1 filc #=arg 2

X = 'mohan’
for i in range(len(x)):
x[i].upper()
print (x)
(A) mohan (B) MOHAN (C) Error (D) FH AP T8l
What does the following code print?
X = 'mohan’
for i in range(len(x)):
x[i].upper()
print (x)
(A) mohan (B) MOHAN (C) Error (D) None of these

BIsd Hieoide SR I BIed ®I AN Ufaqdl &I I T3 & AT & A1 haRH § 2
(A) infile.read(2) (B) infile.read()

(C) infile.readlines() (D) infile.readline()

Which is the function to read the remaining lines of the file from a file object infile ?

(A) infile.read(2) (B) infile.read()
(C) infile.readlines() (D) infile.readline()
fRaferfad 1 sirgeye g 2

import numpy as np

a = np.array([1,5,4,7,8])

a=a+1

print(a[1])

(A) 4 (B) 5 (C) 6 (D) 7
What will be the output of the following?

import numpy as np

a = np.array([1,5,4,7,8])

a=a+1

print(a[1])

(A) 4 (B) 5 (C) 6 (D) 7
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50. f@foad ®is &1 3eeye | 2

What is the output of the following code?

dict={"Joey":1,"Rachel":2}

dict.update({"Phoebe":2})

print(dict)

(A) {"Joey":1,"Rachel":2,"Phoebe":2} (B) {"Joey":1,"Rachel":2}

(C) {"Joey":1,"Phoebe":2} (D) Error

51, oR&ET® EaESIGIE

(A) T dNidey o1 e

(B) I BIS gal
() Ffedi & WivM & foe fechiarad & Tdwue oA
(D) SR &I PIS o

Testing is known as :

(A) A stage of all projects

(B) Finding broken code

(C) Evaluating deliverable to find errors

(D) None of the above

52. U UfchaT b1 GAlETe H 3MId gRT S fhaT ST g |
(A)  3Mmad (B) dd (C) HiRTgys (D) SHHS
A process is expressed in a flowchart by

(A) Rectangle (B) Acircle (C) Parallelogram (D) A diamond
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53.

54.

e fou T4 Ui &7 $r3eye T §?
def maximum(x, y):

if X >y:

return x

elif x ==y:

return 'The numbers are equal'

else:
returny
print(maximum(2, 3))
(A) 2 (B)
(C) The numbers are equal (D)

What is the output of below program ?
def maximum(x, y):

if Xx>y:
return x
elif x ==y:
return 'The numbers are equal'
else:
returny
print(maximum(2, 3))

(A 2 (B)
(C) The numbers are equal (D)
Al syl & s1e s3cye &1 gim ?
foriin range(1,6):

print(i, end=")

if i == 3:

break

(A) 12 B) 1283

Sfead # 4 is a1

3
None of the options

(C) 1234 (D) 12345

What will be the output after the following statements?

foriin range(1,6):
print(i, end=")
ifi == 3:
break

(A) 12 B 123

(C) 1234 (D) 12345
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55. Tt Hacd P g & Tt ford TR &1 ST fohar Sirar g2

(A) readall() (B) read()

(C) readcharacters() (D) readchar()
Which function is used to read all the characters?

(A) readall() (B) read()

(C) readcharacters() (D) readchar()

56. >>>float('12.6') BT ATICYE T §

(A) 12.6 (B) ’12.6’ (C) 12 (D) syntax error
What is the output of >>>float(’12.6’)
(A) 12.6 (B) ’12.6’ (C) 12 (D) syntax error

57. fofafad &1 em3eyge T grm?
import numpy as np
print(np.maximum([2, 3, 4], [1, 5, 2]))
(A) [152] (B) [154] (C) [234] (D) [254]
What will be the output of the following ?
import numpy as np
print(np.maximum([2, 3, 4], [1, 5, 2]))
(A) [152] (B) [154] (C) [234] (D) [254]

58. “from ....import...... ”Wﬁﬁ%&ﬁﬁﬁqmm%?
A)  Riee: AisyeH s SMESfewrR A 7

(

(B) 3N &1 U8 B oo i 3HIE Tl e ©
( .

(

C) 3OS Hiegd &1 AU ST Hisgd &1 YT 9 ST &

D) Wicyd ¥ SMESCHRR &I WY MZSCHER & 0 H Taky a1 oirdl §
Which of the following is false about “from .... import ...... ” form of import?
(A) The syntax is: from modulename import identifier
(B) This form of import does not import anything
(C) The namespace of imported module becomes part of importing module
(D) The identifiers in module are accessed directly as: identifier

59, BRI URSU H Sl sl & oIt SuanT fohdr S aret thawH |

(A)  write (B) output (C) send (D) dump
A function used for writing data in the binary format :
(A) write (B) output (C) send (D) dump
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60. TRIEIC & wIC 3R €T B G/ & o fow Riga &1 IuavT fopar Sra g 2
(A) 3SPR (B) 3MTud (C) ©R (D) SHHS
What is the symbol used to represent start and stop of a flowchart ?

(A) oval (B) rectangle (C) arrow (D) diamond

61. Fofied veausH g ged &1 Jeuidd dal g ?
print(5 + 8 * ((3* 5)-9) /10)
(A) 9.0 (B) 9.8 (C) 10 (D) 10.0
What value does the following expression evaluate to ?

print(5 + 8 * ((3* 5)-9) /10)

(A) 9.0 (B) 9.8 (C) 10 (D) 10.0
62. T Md IBI H ST 9 aTd TRRA gRI fPU S1d B
(A) TdRH (B) Rmd ) Riua (D) <™

Operations to be repeated a certain number of times are done by

(A) Selection (B) Sequential (C) Simple (D) Loop

63. ThaR BId b URHICY 3R Alhd INTSA ! Red AR & {59 i H ¥R a1 g2
(A) fgu (B) WH

(C) SFFRMETE e dTHe (D) IWRIad H I PIs T8l

Which part of the memory does the system store the parameter and local variables of a
function call ?
(A) heap (B) stack

(C) Uninitialized data segment (D)  None of the above
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64. FHfIRIT HT 3M3ITYe FT BRI 2

import numpy as np

a =np.array([2, 3, 4, 5])

b = np.arange(4)

print(a+b)

(A) [2345] (B) [83456] (C) [1234]
What will be the output of the following ?

import numpy as np

a=np.array([2, 3,4, 5])

b = np.arange(4)

print(a+b)

(A) [2345] (B) [3456] (C) [1234]

65. fmfaRad dium &1 emseye : | 2

What is the output of below program ?
def say(message, times = 1):
print(message * times)
say('Hello")
say('World', 5)
(A) Hello
WorldWorldWorldWorldWorld
(B) Hello
World 5
(C) Hello
World,World,World,World,World
(D) Hello
HelloHelloHelloHelloHello

66. Tl TR B TRUMEG dRIb T T B BT dRIbI

(A) T&STeA (B) I (C) U&NRGH

The way for solving a problem step by step is known as

(A) Design (B) Planning (C) Algorithm

(D) [2468]

(D) [2468]

F U H A1 S @

(D) TR

(D) Execution
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67.

68.

33Ty T ?

What is the output ?

def calc(x):

r=2*x**2

returnr

print(calc(5))

(A) Error (B) 50 (C) 100

faffad grrE ®is &1 33eye o1 g 2
def printMax(a, b):
ifa>b:
print(a, 'is maximum’)
elifa==b:
print(a, 'is equal to', b)
else:

print(b, 'is maximum')
printMax(3, 4)

(A) 3 (B) 4

(C) 4 is maximum (D) IfEd A PiE T8l

What will be the output of the following Python code ?
def printMax(a, b):
ifa>b:
print(a, 'is maximum')
elifa==b:
print(a, 'is equal to', b)
else:
print(b, 'is maximum')
printMax(3, 4)
(A) 3 (B) 4

(C) 4is maximum (D) None of the mentioned

20
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69. FofRad TaEiRM ford T o1 Jeuid HRal g ?
x=5
while x < 10:

print(x, end=")

(A) S q (B) o TEA Y
(C) STHIEAIRE (D) TIHH U
What value does the following expression evaluate to ?
X=5

while x < 10:

print(x, end=")
(A) Closed loop (B) One time loop
(C) Infinite loop (D) Evergreen loop

70. FEfARId ®ls &1 33y R BI 2

x =50

def func (x) :

X=2

func (x)

print ('x is now', x)
(A) xisnow 50 (B) xisnow?2 (C) xisnow 100 (D) Error
What is the output of the following code ?
x =50

def func (x) :

X=2

func (x)

print ('x is now', x)

(A) xisnow 50 (B) xisnow?2 (C) xisnow 100 (D) Error
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71. TAafafad ol &1 sm3cye o g 2
def disp(*arg):

foriin arg:
print(i)
disp(name="Rajat", age="20")
(A) TypeError (B) Rajat 20
(C) Name age (D) 9 9 DI T8l
What is the output of the following code ?
def disp(*arg):
foriin arg:
print(i)
disp(name="Rajat", age="20")
(A)  TypeError (B) Rajat 20
(C) Name age (D) None of these

72. FufaRaa & 3 o9 91 Nl wie dg4 o AR Awrfed Har 82
(A) HUEWR (B) FeR (C) TR (D) TR

Which of the following executes the programming code line by line?
(A) Compiler (B) Interpreter (C) Executer (D) Translator

73. Fufafed e &1 e ergu o ghm 2
def funci():

return ‘mnp’,22

) fore (B) R () f& (D) &Ud

What is the return type of following function ?
def funci():
return ‘mnp’,22

(A) List (B) dictionary (C) string (D)  tuple
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74. Tgfafad @is &1 sm3cye a1 g 2
def fun(a, b=6):
a=a+b
print(a)
fun(5, 4)
(A) 11 B) 9 (C) 5 (D) 4
What is the output of the following code ?
def fun(a, b=6):
a=a+b
print(a)
fun(b, 4)
(A 11 (B) 9 (C) 5 (D) 4

75. FUd I e TS S HIS B2

(A) a (B) ar+ C) r+ (D) w
Which of the following is an invalid mode ?
(A) a (B) ar+ C) r+ (D) w

76. AOfRad Urae ®I8 &1 3m3eyce 1 gRM?
from math import pow
print(math.pow(2,3))
(A)  Nothing is printed
(B) 8
(C) Error, method pow doesn’t exist in math module
(D)  Error, the statement should be: print(pow(2, 3))
What will be the output of the following Python code?
from math import pow
print(math.pow(2,3))
(A)  Nothing is printed
(B) 8
(C) Error, method pow doesn’t exist in math module
(D)

D) Error, the statement should be: print(pow(2, 3))
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77.

gl T &1 3eeye o1 81T 2
x=4
print(x<<2)

(A) 4 (B) 16 (C) 6 (D) 2
What will be the output of the following expression ?

x=4

print(x<<2)

(A) 4 (B) 16 (C) 6 (D) 2

78. fAfifad ®Ie &1 er3cye &1 ghm?

79.

80.

import numpy as np

y = np.array([[11, 12, 13, 14], [32, 33, 34, 35]])

print(y.ndim)

(A) 1 (B) 2 (G 3 (D) 0
What is the output of the following code ?

import numpy as np

y = np.array([[11, 12, 13, 14], [32, 33, 34, 35]))

print(y.ndim)

(A) 1 (B) 2 (C) 3 (D) 0

TP SR YU S SRR $i Al &7 gaieH R a0 Hrar g |

(A) TR (B) WieH

(C) HURR (D) SR Rew

A computer programme that manages and controls a computer's activity :
(A) Interpreter (B) Modem

(C) Compiler (D) Operating system
faferfed TegTe 1 Sirgeye &1 g 2

print (7//2)

print (-7//2)

(A) 3-3 (B) 4-4 (C) 3-4 (D) 338
What will be the output of the following expression ?

print (7//2)

print (-7//2)

(A) 3-3 (B) 4-4 (C) 3-4 (D) 33
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81. TAfcifad St wie &1 r3cye &1 g 2
Integer a
Seta=4
do
printa + 2
a=a-1
while (a not equals 0)
end while
(A) 6666 (B) 6543 (C) 6789 (D) 681012
What will be the output of the following pseudo-code ?
Integer a
Seta=4
do
printa + 2
a=a-1
while (a not equals 0)
end while
(A) 6666 (B) 6543 (C) 6789 (D) 681012

g82. Trgfafad ®is &1 sM3cye AT g 2
a={1:"A", 2:"B", 3: "C"}
b ={4:"D", 5: "E"}

a.update(b)

print(a)

(A) {1:'A', 2:'B', 3:'C'} (B) {1:'A',2:'B', 3:'C', 4:'D', 5:'E"}
(C) Error (D) {4:'D', 5:'E'}

What is the output of the following code ?
a = {1 : "All, 2: IIB", 3: IICII}
b = {4: "D", 5: "Ell}

a.update(b)

print(a)

(A) {1:'A", 2:'B', 3:'C'} (B) {1:'A',2:'B, 3:'C', 4:'D', 5:'E"}
(C) Error (D) {4:'D, 5:'E'}
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83. U UENRYH O W B Th&l T W& Y J Pict bl § 34 Sl S 2|

(A) TS HaRH B) RoH

(C) fxad uiferwr Are=H (D) <IaNd U@NNGH

An algorithm that calls itself directly or indirectly is called as

(A)  Sub Function (B) Recursion

(C) Reverse Polish Notation (D) Traversal Algorithm

84. randint () TR &1 SUTNT HR & AW DIF 1 Alegd AT faal o1 § 2

(A) random (B) randrange (C) randomrange (D) rand
Which module is to be imported for using randint( ) function ?
(A) random (B) randrange (C) randomrange (D) rand

85. WUMR &I JAAWHdl & 3R il TRb ®I U HA & U gRUMNT R &I

EISIGIE
(A) ToR SHEs hawm (B) gt haH
(C) foee T HhaR (D) SWRIad gt
Function defined to achieve some task as per the programmer’s requirement is called a
(A) user defined function (B) library function
(C)  built in functions (D)  All of the above.

86. MU AY P PIas TS ?

(A) eval (B) nonlocal (C) assert (D) finally
Which of the following is not a keyword ?
(A) eval (B) nonlocal (C) assert (D) finally

g87. Fufifad gSiers &1 3Seye F1 ghT, et A, XOR 3TRYH &1 gRIfdr § 2
Integer a, b, ¢
Setb=4,a=3
c=a’b
Print ¢
(A) 4 B) 3 (C) 5 (D) 7
What will be the output of the following pseudocode, where A represent XOR operation ?
Integer a, b, ¢
Setb=4,a=3
c=a’b
Print ¢
(A) 4 B) 3 (C) 5 (D) 7
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88.

89.

90.

91.

Uopol & Tt Aisyd 3HIE B & T S T puT 98l §

(A) from package import all (B) from package import *
(C) from package include all (D) from package include *
Which statement is correct to import all modules from the package ?
(A) from package import all (B) from package import *
(C) from package include all (D) from package include *
T SR TENRGH BT SUART & fore fomam SaT g1

(A) e R (B) ST TRYefUr SR fEafif
(C) TRA Pt (D) ot

Flowchart and algorithms are used for
(A) Better programming
(C) Efficient Coding (D) Al

fafifad 7 9§ o afers SreSfewrR 8l 57

(A) student (B) s12 (C) 128
Which of the following is not a valid identifier?

(A) student (B) s12 (C) 128

fafeRad &1 3m3cye &1 g 2
def ig(a,b):
if(@==0):
return b
else:
return ig(a-1,a+b)
print(iq(3,6))
(A 9 (B) 10 (C) 11
What will be the output of the following ?
def ig(a,b):
if(a==0):
return b
else:
return iq(a-1,a+b)
print(iq(3,6))
(A) 9 (B) 10 (C) 11

(D)

(B) easy testing and debugging

123

_123

12

12
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92.

93.

94.

T wrga Fie foram 3 fere v R o1 vavT fara Srar @ 2

(A " (B) # ) / (D) 2
Which symbol is used to write single line comment ?

(A " (B) # ) / (D) 2

Uy Aiegd PIEd TSI aTcll U B1d & forH 9 Uiy 1 gidT g

(A) .pym (B) .pymodule (C) .module (D) .py

A Python module is a file with the file extension that contains valid Python
code.

(A) .pym (B) .pymodule (C) .module (D) .py

afeRad s WHe flie or o 2
a=True
b = False
c = False
if not a or b:
print(1)
elif not a or not b and c:
print (2)
elif not a or b or not b and a:
print (3)
else:
print (4)
(A) 1 B) 3 (C) 2 (D) 4
What will following code segment print ?
a=True
b = False
c = False
if not a or b:
print(1)
elif not a or not b and c:
print (2)
elif not a or b or not b and a:
print (3)
else:
print (4)
(A 1 B) 3 (C) 2 (D) 4
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95. fARfIRad HuHl & TG 3M3TYe FT BRI 2

96.

X=2
if x < 5:
print(x)
else:
pass
(A) 234 (B) 1234 Cc 2
What will be the output after the following statements?
X=2
if x < 5:
print(x)
else:
pass
(A) 234 (B) 1234 (C) 2

fafafad gEieis &1 33eye &1 ghm ?
Integer a, b

Seta=9,b=5

a=amod (a-3)

b =bmod (b-3)

Printa+b

(A) 4 (B) 5 € 9

What will be the output of the following pseudocode ?
Integer a, b

Seta=9,b=5

a=amod (a-3)

b =bmod (b-23)

Printa+b

(A) 4 (B) 5 € 9

(D) ITH A B 5!

(D)  None of these

(D) 8

Page 29/21

M3-R5/S2 / 08-22



97. TRIETE H $YC 3R 3M3eye TR & fae Fofofed & & forg Ruaa o1 Iudi fosa S g2
(A) 3mad (B) IHiRTgYS (C) Td (D) SHHS

Which of the following symbol is used for input and output operations in a flow chart ?

(A) Rectangle (B) Parallelogram (C) Circle (D) Diamond
98. HIC qU 3R B i FHTE PR & 2
(A) break (B) pass (C) continue (D) 99 9 DI T8l

immediately terminates the current loop iteration.

(A) break (B) pass (C) continue (D) None of these

99. B UIYS H UH Well et Hdl 1 Tohd! o2

(A)  list=() (B) list.null (C) nulllist (D) list=[]
How can we create an empty list in Python ?

(A) list=() (B) list.null (C) nulllist (D) list=[ ]

100. FUfRed & @ 19-91 U6 Tead ST egu g ?
(A) set (B) tuple (C) String (D) FAH AP el

Which one of the following is a mutable data type ?

(A) set (B) tuple (C)  String (D) None of these

-000-
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